

# Lecture 34

Andrei Antonenko

May 5, 2003

## 1 Functions of the operators

Let  $\mathcal{A}$  be a linear operator. If  $f(t)$  is a polynomial,

$$f(t) = a_m t^m + a_{m-1} t^{m-1} + \cdots + a_1 t + a_0,$$

then we can define  $f(\mathcal{A})$  as

$$f(\mathcal{A}) = a_m \mathcal{A}^m + a_{m-1} \mathcal{A}^{m-1} + \cdots + a_1 \mathcal{A} + a_0 \mathcal{J}.$$

Since the space of linear operators is finite-dimensional (we are considering only finite-dimensional vector spaces here), then there is only a finite number of linearly independent powers of  $\mathcal{A}$ . Thus, there exists polynomial  $f(t)$ , such that  $f(\mathcal{A}) = 0$ . Such polynomials are called **annihilating polynomials**. The annihilating polynomials of minimal degree are called **minimal polynomials** of the operator  $\mathcal{A}$ . We will denote minimal polynomials as  $m_{\mathcal{A}}(t)$ .

**Example 1.1.** *The minimal polynomial of the zero operator is*

$$m_0(t) = t.$$

**Example 1.2.** *The minimal polynomial of the identity operator  $\mathcal{J}$  is*

$$m_{\mathcal{J}}(t) = t - 1.$$

**Lemma 1.3.** *The minimal polynomial of the Jordan block of the size  $m$  with the eigenvalue  $\lambda$  is equal to  $(t - \lambda)^m$ .*

*Proof.* Let  $\mathcal{A}$  be a linear operator, given by this Jordan block. Then  $\mathcal{N} = \mathcal{A} - \lambda \mathcal{J}$  is a nilpotent operator of the height  $m$ , i.e.

$$(\mathcal{A} - \lambda \mathcal{J})^m = 0, \quad (\mathcal{A} - \lambda \mathcal{J})^{m-1} \neq 0.$$

Thus  $(t - \lambda)^m$  is an annihilating polynomial, but none of the smaller powers of  $(t - \lambda)$  is not an annihilating polynomial. Thus  $(t - \lambda)^m$  is a minimal polynomial.  $\square$



**Theorem 1.8** (Cayley-Hamilton theorem).  $p_{\mathcal{A}}(\mathcal{A}) = 0$ , i.e. the characteristic polynomial of the operator  $\mathcal{A}$  annihilates operator  $\mathcal{A}$ .

**Example 1.9.** For any  $2 \times 2$  matrix  $\begin{pmatrix} a & b \\ c & d \end{pmatrix}$  we have

$$\begin{pmatrix} a & b \\ c & d \end{pmatrix}^2 - (a+d) \begin{pmatrix} a & b \\ c & d \end{pmatrix} + (ad-bc) \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} = \begin{pmatrix} 0 & 0 \\ 0 & 0 \end{pmatrix}.$$